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QUESTION 1

Click the Exhibit button.

'IPspace Vserver List Broadcast Domains
Cluster
Cluster Cluster
Default
svml, svmZ, Default
clusterl
IPspacel
SVM1a, SVM2A, IPspacel
IPspacel
SVM2a, SVM2B, IPspace2

You execute the clusterl::> network ipspace show command, and notice that two IPspaces are not able to
be renamed or deleted.

Referring to the exhibit, what are these two IPspaces? (Choose two.)

A. IPspacel

B. Default

C. IPspace2

D. Cluster

Correct Answer: BD

QUESTION 2

Your manager asks you to upgrade the ONTAP software that is running on the organization\\'s FAS8200.
The FAS8200 is running ONTAP 9.2 and needs to be upgraded to ONTAP 9.5.

In this situation, what is the minimum number of ONTAP upgrades required to accomplish the task?

A. 3 upgrades; ONTAP 9.2 > ONTAP 9.3 > ONTAP 9.4 > ONTAP 9.5

B. 1 upgrade; ONTAP 9.2 > ONTAP 9.5

C. 2 upgrades; ONTAP 9.2 > ONTAP 9.3 > ONTAP 9.5

D. 4 upgrades; ONTAP 9.2 > ONTAP 9.2P4 > ONTAP 9.3 > ONTAP 9.4P5 > ONTAP 9.5

Correct Answer: C

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492712 (10)

NS0-160 VCE Dumps | NS0-160 Practice Test | NS0-160 Braindumps 214


https://www.passapply.com/ns0-160.html
https://www.passapply.com/ns0-160.html
https://www.passapply.com/ns0-160.html

VCE & PDF https://www.passapply.com/ns0-160.html
2024 Latest passapply NS0-160 PDF and VCE dumps Download
PassApply.com

QUESTION 3

You must create separate SVMs that are based on teams. You also need to create separate SVMs that
are based on the block-level and file-level protocols. Your DevOps team requests NFS and CIFS protocols,
your Al team requests NFS and NVMe protocols, and your marketing team requests SMB and iSCSI
protocols.

In this scenario, what is the minimum number of SVMs that you must create to satisfy these requirements?
A3

B.5

C.6

D.4

Correct Answer: B

QUESTION 4

A 2-node switchless cluster experiences a node failure.

In this situation, which LIF automatically migrates to a different port?
A. SAN data LIF

B. intercluster LIF

C. NAS data LIF

D. node management LIF

Correct Answer: C

Reference: https://thinksystem.lenovofiles.com/help/topic/network_management_guide/M_CF7DA10EOAF9-4CE1-B44D
-8446361A158F _.pdf

QUESTION 5

What is the default fractional reserve for a thin-provisioned SAN volume?
A.5%

B. 20%

C. 100%
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D. 0%
Correct Answer: C

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1002243/~/what-is-the-properconfiguration-for-a-
volume-containing-a-lun%3F
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